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BOARD ACTIVITY SHEET: JULY 2022
ENGLISH KUMARBHARATI

Time: 3 Hours Total Marks: 80
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[ Section I: Language Study )

Do as directed (any four): [04 Marks]
Identify the type of sentence based on its function: 1)
Take what you please.

Spot the error in the following sentence and rewrite with its correction: aQ
He run very fast

Pick out the participle from the given sentence: a1
I don't like frightening stories.

Use the given phrase in a meaningful sentence of your own: a
to look forward.

Complete the word chain of Noun:

Strength, ....... f....... s Y ARy & 1)
Do as Directed (any two): [04 Marks]
Rewrite the following sentence into indirect narration/speech: 2

(@)  “You are not tone —deaf ” he said to me.
(b)  “I made some money yesterday” he said.

Rewrite the given sentence using ‘not only ....... but also’: ?2)
The state parties are responsible for identifying and nominating new sites.

Identify the tense of the underlined verb and rewrite the sentence in present continuous

tense. (2)
Life hits you in the head.

Do as Directed (any one): [02 Marks]
Change the given sentence into positive and comparative degree: ?2)
The biggest challenge knocking on the doors of human kind is fear and intolerance.

Use the given word as it is a noun as well as a verb in two different sentences: )
‘honour’

Section II: Textual Passages
(Reading SKkills, Vocabulary and Grammar)

Read the following passage and do the activities: [10 Marks]
Complete the given sentences: 2)
Nothing that we say seems

If she can put some fight into him she can put

Nothing can be difficult

French soldiers are always beaten because

Robert : What is your name?

Joan : They always called me Jenny in Lorraine. Here in France, I am Joan. The
soldiers call me the Maid.

Robert : How old are you?

Joan : Seventeen, so they tell me. It might be nineteen. I don’t remember.
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Robert : I suppose you think raising a siege is as easy as chasing a cow out of a meadow.
You think soldiering is anybody’s job?

Joan : Idon’tthink it can be very difficult if God is on your side.

Robert : (Grimly) Have you ever seen English soldiers fighting? Have you ever seen
them plundering, burning, turning the countryside into a desert?

Have you heard no tales of their prince who is the devil himself, or of the
English king’s father?

Joan : You do not understand, squire. Our soldiers are always beaten because they are
fighting only to save their skins and the shortest way to save your skin is to run
away. But I will teach them all to fight for France. Then, they will drive the
soldiers before them like sheep. You and Polly will live to see the day when
there will be not a single English soldier on the soil of France.

Robert: (To Poulengey) This may all be nonsense, Polly. But the troops might just be
inspired by it though nothing that we say seems to put any fire into them. Even
the Dauphin might believe it. And if she can put some fight into him, she can put
it into anybody.

(A2) Pick out from the extract of the play two lines th.at provide for:

Her optimism. (2)
(A3) Match the words/phrases in the Column ‘A’ to their meaning in Column ‘B’ ?2)
Column ‘A’ Column ‘B’
Words/Phrases Meanings
(i) | Plundering (a) | Grassland
(i) | Meadow (b) | Surround from all sides and attack
(ii1) | To save their skin (c) | To save their lives
(iv) | Raising a siege (d) | Looting
(A4) Do as Directed: 2)
1. I don’t remember (Rewrite as an Affirmative Sentence). 1)
ii.  Even the Dauphin might believe it. (Pick out the modal auxiliary) 1)
(AS) Personal Response:
As a monitor of your class, how would you boost the morale of your classmates to participate
in various school competitions? ?2)
(B) Read the following passage and do the given activities: [10 Marks]
(B1) Write the statement and encircle the wrong alternatives: 2)
1. The novel is based on pure fiction/real facts.
ii.  The novel draws heavily on his own life/biography.

iii.  The writer worked for Red Cross Society during the Second World War/First World War.
iv.  Hemingway’s story ultimately became a story of triumph/disaster.

Hemingway’s novel is based on real events and it also draws heavily on his own life. He
had experience of fishing in the Cuban waters and like the old man he was also a fan of
baseball. He worked for the Red Cross during the First World War and was injured by
shrapnel when he was in Italy. Hemingway always talks about the need to struggle against
defeat or death and how determination and endurance can help one to win in this struggle.
The old man is at the end of the novel very near death, but we know that- the story of his
suffering and loss will live on in the memories of .the people of his village. Ultimately his
story becomes one of triumph because the tales of his life will live on even after his death.
The novel was published in 1952, when people were trying to recover from the mass
destruction wrought by the two world wars, and this tale of endurance and ultimate
triumph immediately struck a chord with the readers.

Writing Style:

Hemingway’s language is simple and pithy. He mostly writes in short and
straight-forward sentences and practises an extreme economy in his use of words. This
simplicity is deceptive and a reader can read his work again and again and find new layers
of meaning every time.
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Complete the web by filing the boxes: ?2)
Theme of
the Novel
Find and write the collocations from the passage: ?2)
man ii. wear
destruction iv. triumph
Do as Directed: 2)
Hemingway’s novel is based on real events. 1)
(Convert the underlined adjective into an adjectival clause).
Hemingway’s language is simple and pithy. (4]
(Frame ‘Wh’ question to get underlined part as an anwer).
Do you think one should have a role model to look upto? Justify your response. ?2)
‘ Section III: Poetry )
Read the following extract and do the given activities: [0S Marks]
Choose the correct alternatives given and rewrite the sentence: 2)
The peasants chant the name of God to
(a)  nullify the stinging experience  (b)  praise God (c) appease God
The click of the tongue reflects the peasants’ to the predicament.
(a)  individual response (b)  collective response (c) father’s response

The villagers panic and hastily suggest
(a) to take her to the hospital (b) ayurvedic treatment
(c) religious remedies to help

The villagers sat around with the poet’s mother in the centre
(a) under a tree (b)  on the floor (c) inside a cave.

The peasant came like swarms of flies
and ‘buzzed the name of God a hundred times
to paralyse the Evil one:

With candles and with lanterns

throwing giant scorpion shadows

on the mud-baked walls

they searched for him: he was not found.

They clicked their tongues.

With every movement that the scorpion made his poison
moved in Mother’s blood, they said.

May he sit still, they said

May the sins of your previous birth

be burned away tonight, they said.

May your suffering decrease

the misfortunes of your next birth, they said.
May the sum of all evil

balanced in this unreal world

against the sum of good

become diminished by your pain.

May the poison purify your flesh

of desire, and your spirit of ambition,
they said, and they sat around

on the floor with my mother in the centre,
the peace of understanding on each face.
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(A2) From the given extract provide evidence for the following: ?2)
Actions Evidences
(i) | Efforts of the peasants to kill the scorpion
(i) | Evil versus good
(A3) Find an example of Onomatopoeia from the given extract. 1)
(B) Read the following poem and write an appreciation of it with the help of the given
points in a paragraph format: [05 Marks]
The Pulley
When God at first made Man,
Having a glass of blessings standing by;
Let us (said He) “pour on him all we can:”
Let the worlds riches, which dispersed lie,
Contract into a Span.
So strength first made a way;
Then beauty flow’d, then wisdom, honour, pleasure:
When almost all was out, God made a stay,
Perceiving that alone of all His treasures
Rest in the bottom lay.
For if I should (said He)
Bestow this jewel also on my creature,
He would adore my gifts instead of me,
And rest in Nature, not the God of Nature.
So both should losers be.
Yet let him keep the rest,
But keep them with repining restlessness:
Let him be rich and weary, that at last,
If goodness lead him not, yet weariness
May toss him to my breast.
- George Herbert
Points:
* The title and the poet of the poem (1)
* Rhyme scheme €))
* Figures of speech (1
* Central Idea/Theme 2
(Section IV: Non-Textual Passage)
(Reading Skills, Vocabulary, Grammar and Summary)
(A) Read the following passage and complete the activities: [10 Marks]
(A1) State whether the following sentences are true or false: )
1. The report expresses that only laws could provide women with the protection and facilities they deserve.

il. The situation in our country was very grave during the last two decades of the century.
iii.  In India, the bias against immunization of baby girls doesn’t exist.

iv.  International organisation states that the one-fourth of women, who die in the world today, are Indians.

A research report published by a reputed International organisation states that the one fourth of the
women, who die in the world today, are Indians. The report adds that the situation in the country was very
grave during the last two decades of this century as the deaths were mostly due to malnutrition and
disease. Despite this fact, it is found that the media is indifferent to building public awareness in this
regard. From a month — long study of newspapers and periodicals, it was clear that there was no
deliberate, systematic or sustainable effort to sensitise the public by investigative and factual coverage,
not more than one percent, was related to issues of women-education, liberation etc. but not with survival

and development. The rural women hardly figured in the media, so says that report.
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The expectant mothers are undernourished, anaemic and hence they give birth to children who are
handicapped. These children do not receive prenatal care. Even if such children survive, four to six
months later they become susceptible to diarrhoea, respiratory or other infections because of insufficient
nutrition, incomplete immunization, viral infection and improper treatment. The result is that by the time
such children reach 3 years of age, they start showing signs of wasting. They do not grow to their full
mental and physical potential.

Unfortunately, the bias against girl babies still continues. In the slum areas in India’s metropolitan
cities, there still exists a bias against immunization of baby girls. The report expresses a feeling that a
social awareness not merely laws could provide woman with the protection and the facilities they
deserve.

(A2) Complete the following: ?2)

/

Children become
victims of diarrhoea
and other diseases

due to
(A3) Solve the crossword puzzle using words from the passage referring to the clues given: ?2)
2
1
L
3 E
4| M
Down Across
(i) | Freedom (i) | Famous
(i) | Consciousness (i) | Connected with mind
(A4) Do as directed: (2)

1. They do not grow to their full physical potential. (Add a question tag)
ii.  They give birth to children who are handicapped. (Make it into simple sentence)
(AS5) Suggest four measures to combat malnutrition. )

(B) Summary writing: [5 Marks]
Read the above passage given in Q. No. 4 (A) and write a summary of it in a paragraph. Suggest a
suitable title.
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‘ Section V: Writing Skills )

Q.5 (A) Letter writing: [05 Marks]
(A1 or A2) Do any one of the following:
Imagine your Jay/Jaya residing at C/12 Sudhir Apartment, Ranpise Nagar, Akola — 444001
Read the given snippet and write the letter

Handwriting is an essential skill for both children and adults. Handwriting activates the
brain more than key-board because it involves more complex motor and cognitive skills.
Handwriting contributes to reading fluency because it activates visual perception of letters.
Handwriting is a predictor of success in other subjects, because good handwriting has a
positive impact on grades

Al. Formal Letter
Write a letter to the Principal of
your school asking her/him to | Or
start handwriting improvement
class.

A2. Informal Letter
Write a letter to your friend Tara/Taresh to
improve her/his handwriting. Explain how
important it is.

Q.6 (A) Information Transfer. [05 Marks]
(A1 or A2) Do any one of the following:

(A1) Verbal to Non-Verbal :
Read the following information. Transfer it into a tree diagram and give a suitable title:

* The tulsi plant is a close relative of a culinary basil but it is differentiated by its medicinal
properties and some physical characteristics. There are three main types of tulsi plants:
* Rama Tulsi (also known as Green Leaf Tulsi) — A green tulsi with light purple flowers and an

aromatic, clove — like scent (thanks to its chemical component of eugenol, which is the main
aroma in cloves and mellower flavour).

* Krishna Tulsi (also known as Shyama Tulsi or Purple Leaf Tulsi) — A purple plant with a clove-
like aroma peppery flavour.

* Vana Tulsi (or Wild Leaf Tulsi) — A bright, light green tulsi plant that grows wild and is
indigenous to many areas of Asian and North/East Africa, it has a more lemony aroma and
flavour.

OR

(A2) Non-Verbal to Verbal:
Transfer the information into a paragraph:
Observe the flow chart of process of cheese and other dairy products from milk and write a paragraph
on it. Suggest a suitable title:

Crop production for cow feed | —— | Milk Production Cow gives milk

|

Processing cheese and dairy = B Transportation for dairy plant
Packaging s Transportation to stores
Retail Final transp?natlon to
consumer’s home

(B) Speech/view-counterview:
Attempt any one of the following [B1 or B2]: [0S Marks]

(B1) Speech writing:
Prepare a speech to be delivered on World Family Day (15th May):
The subject given to you is ‘A family must have one meal together’.
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Use the following points:

Develops family bond and values.

Helps to plan and connect.

Give opportunity to share experience.
Displays appropriate manners and discipline.
Helps to cope and adjust with life.

OR

Write your counterview on:

Write your counterview in a paragraph on the topic ‘It is better to follow your heart than the
advice of ten’ views:

Views:

People find it easy to advise

Not everyone is your well-wisher.

You are the master of your fate.

Trust your instincts.
Section VI: Creative Writing
(Expansion of theme/News Report)

Do any one of the following (A1 or A2): [05 Marks]

Expand the theme:
Expand the following idea in 80-100 words:
‘Little drops of water make a mighty ocean’.

OR

News Report:
Prepare a news report based on the following in 80-100 words:
“You rescued a pigeon entangled in a string of a kite’.

Developing a story/Narration: [05 Marks]
Do any one of the following: (B1 or B2)

Developing a story:

Develop a story in about 80-100 words with the following ending. Give a suitable title:
........................ Thus Hari realised that many friends will walk in our life, but only true friends
will leave their mark.

OR

Narrate an experience in about 80 — 100 words with the following beginning. Give a suitable
title:
The concept of incredible India stirred my mind When .............coviiiiiiiiiiiiiiiiieeeen,
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AS HfauiTehT: TS 2022

ELARGIC R R

U 3 6e ST 3ich: 80

faamT 1 — e : 20 3

1. @ Trafafed ufsa TegivT ugent < T GeaTeil o STHR Hiaat ity (8]

FET ITh! T T, WioRT T TGT THISHT FeAe 1 G & | TN <eieht FEAT 1 ST W Ble-
BT HehTT FIC ST T ITH FT o 0 & 378 TeahT 311 arelt Afgend er-a1, =I-=I & IRar
T, T et &7 3 €| safe S feiget Gua ®, agd € STEnT € 1 va € e A7 g A €,
T I % T F YRET o SIC IThT ISR, FITAT I IThT HATST hT AT o € | eI 1 fegqn
fe farm &t WeTe ST TEWT A1 T F | AR SMHT F&T T AW o IHT A A FAfaww e g v
TET ST 3T T | TS H U T HT AT SIS ¢ | I SEvAHaT § F FF STHT 5T 1T |
T 3T fogaTy 7 BraT A1 T % o UE e H et € T B | G ST 3% YT ohT aregeeh ferere
FHEAT AR STeat H F& T T ok 97T T91 IR <11 T8 afE 3T Fe af oTft § 3T &7 faaR &
TR | TET WET TR 7 | Fedl H Teresr, Ry We SER K © | SUh! Hicrr qEHT qh gord! & Tl
AT A e Y AT e § 9 3R B Bl HehT o8 TS = | o fgert € 7 off Toh-Ueh g e
faerdt 7 | 3 foehd & 95 | T off fgem o € | e & 57

(1) It ® fafau: 2]
tﬁ?ﬁa\“w
(2) ()  3MgH H FEAl 1 I8 Gk Mt 1]
(1) e o ofmE e @) e
(ii) ~ HTORTHTE ! SE ! 3 I T GATA & 1]
(1) e o e @)
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(3) () Fmfafed €l & Fed €7 TR 1]
(1) T = oo, () TEM = oo,
(i) FrAfared =) o Jfed €9 R 1]
(1) T oo, Q) W oo,
(4) ‘STIRIMEA T Aead 39 a9 W 25 § 30 vl # 310 foar faf@m | 2]
(3m) frefafe ufew Teaier ugent < 7 gaATeii o SIUR Al St 8]
TAEET ;3@ R-4R TA| ... 3T TET HI SWHS ... W
EGE O = R
THEEY 3T AT T2 A o T8T 37t J¢ et off TR Fugam aramm? ... foeT € wrea!
..... 31X 7% vl feRafer sremam &2
Taqd . B-g-gl
TOEEY ;IR e St & FAL § ¥ gRANTIH 337 o 3R Fgar ot ... STeat S|
i . QIfeh 9% TR TTsel JdT 3T A He Felt Ut € |
TAETET ;AT g
T ;R A wET o fob 3H SYe-3Te ek A A |

THEET ;3R T, T@T, I ¥ HE & fop SR HAT F W A AT W W | ge oo ¥,
TR &, TWI-WHEfedl § ST ©; 7 =ed ¢ foh eigeh! Sarey ugi-feret T 8l |

T . 3T AgHT?

@Y ;o9 W ¢ q AgehT Gar W | TR, & o€ @S ¥ 8 Iedl §, Wieewhel shiciT H |
el © T TITET BT HaTel GO ], UGTE T GHRT | T B, A R |

RGN S ICEIRCISES
TUEEY SR UA, F T off ... T IAT H G AT, GIST-T M M| §-5-7! oMW T-F..
M Ge § hd Ahclt af el g8 ?

M. wEE ;Y dfreTe ST o7 | T ferdT Y TEY?
TAEET . §-§-2! 3R Hieq o< a1, o oot ot gafaat €2

(1) ()  Fa i wfe 2]
foga fofam:
()  THEET-TAT ool
(i) TTEEY-YAT — ... g
(iii) ¥ET-391 W/ A48 %
(iv)  TIUTGT JRTG-FTRT — ..o,

@ () fafeu: 1]
T WW
! !

z
yﬁl
:

(i) e H Sfeafad I are: 1]
() e Q)
(3) () FefatEd sl & a9 Jeawl e ¥ fafau: 1]
(1) & - (2) VWA - ...
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(i) ffafea i o for Teamet Rt § fafem:
(1) TEET - (2) ITFT = oo

(4) ‘I3 TR, ST UGTA 39 favE W 25 ¥ 30 vl K o fouR fafEw |
() frafeafed sufed TeaieT ygent €t g et % FTUR Hiqal shifau;

HYHIT hT TTHICTE ST T FoT AT 7 | TX Tk et feat # Joar 3 =g o o St & |
FHT-FH FHIA G AT Tt & | 3T TS 3t ¢ | 59 GG qf7 ¥ Feft 7 79 Aye fown ¢ | i &
S wfee weit S ATHIEeh Bl o1 TeR BIt ¢ | T ¥ S TSl i =it T oY qerardt =Jeat
IR Afedt der ST T thedl ot &) % | 98 © YA, fSTeen! merfaer Ber Rt 3 TR § | 39fay
T Jea T T hed € | T H HKAT o WY FHT WHS & 7, S UST 3 B AR geit T v S
I & | FoFR & g8 SO § SRt T8t o 9 |

STET, @, YT, T, T, SCAGERT AT GarT T8t & 990 & © | 76T Teqa o erare -
SO TTeqe’ wed € | ST H SAR Aehel Aot € S AT ¥ SgTehk U ShTe § g8l S of S8
STt € | SFET T MThTdeh Gl T et (9 Tk & Tl 7 | SR S 3T TR § IR & O & TS F
M ST HT F WT TR I & | HY HT HYAR H FIT R W & FA S TN Fed ¢ |
GagLT AT % AAHIee Bl ot aaT T el 8 |

(1) TH-T v&) § IR fafay:
() TEHMAZTTHRITSA = (1) everrreiernnnnnn. (2)
(i) TEAAHITHTT = (1) .oooirrennnn. Q) e

(2) “9Ra gfF fafgemr T 9o= 2 39 v W 25 § 30 T # fG9R oo Hifen |

faurT2 —ueT : 12 3w

(30 Frafefa ufsd eyt ugert <1 T QAT & SITH Rt ity

HIA % fod 9% B0 @ T ¥ |

fa HLaTel TETEST ST, 3RS S SRR L |
fo R T B T, TH-TW WK T 1|

Tl TaRg ! gL =iel!, T9-1d e ¥ |
IST AT AT AT 3T, TLHA LT IR T | |
T % T Gl G U €, WAThedTs g9 SR T |
HRT o gy FIfER A0, =07 Fhaet afeRei T ||

(1) WS quf SifeTe:

Bt oF THT 37T
fafda et STk

2) T 799 491 ST 5T St e wrsg
(i) -l () BT — ...

(3) TS TSI ot S TR Ufekaat o1 9t 374 25 § 30 v # faf@n |
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(3m frefafe ufe weaieT ygat € 7 guATsi o IgUR Sfqat wif:
i T T T, IR % g oTrE!
A T TR, e g
TS G QIR TeHH aral # foerad,
3T 9 % ST Y AT AT TW I |
ForeTr epTet & T R # Foret-FrsT ST 1 €
e Ya, VIR fHediehd a-a T 7 |
ST T 5 F IS ST S T 377,
Y T WS I TG T8 A H § 9 A |

(1) 3R fafau;
(i) TSI H 7T FJ3T o T

(1) oo (2) e
2) () Frfafed st o fa TeamT % yge fadredes v gean] farau:
(1) X Q) FEX oo,

(i) TSI H T “37afT’ vIeg & wArgaret e fofau:

1) I/ () e

(3) SUHERT TSI St i o Uit o1 TR 31 25 ¥ 30 vl H fafau |

faumT 3 - W uaT : 8 i

(30 Frafafas ufed Tezier ygst & TE GEATSH % SIUR Hidar smifau;

“IE WU o1 T8 © S I ST OT B 310 frrsrr, ey, fiat o7 SUeR <9 § | 3HenT

TEY ot FT-FF 991 & © AT STER I T haet GETET AT st T SEH-TEH Hd ¢ | 399
31k 5w T STafeh fvad 37 § ¥oF gU ™, Tt g8 FIeel, Tt g e, ek TE Hendt onfg #

3Hh HIOT THAAT BT ol ST Tehell © | T T8 TANT & A W Foish ¢, THHT q0dT Fag Tt

e T e, T 3 UROT § | et I8 oSl § SER et ST | STaT o fob et oft < Y g
TR feR 93 tferpifeat 3 ... TiefiRar & fomm-famet o5 & a1g 9o % Wel IaR &1 9% & ¢

IYHT =TI Y 7T | 31T 9% quen foF I F9 T o foa e €1 gehe €, W T 1

(1) 3 fafau:
fvad <7 9 g aTel T
() e (1) e
() oo (V) e

(2) ‘9ETER U AT, 39 fawg W e faew 25 ¥ 30 vl # fofen
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(em frefafad ufed ugaier ugert <1 T omTeil o SITHR Hiqar sty

BELIKSICS
TaRET I &
T ot 7
faar fg
e o ST |
AT ST |
T fen
ISERIIGIECI Ry
TT I |
TR o
TEHT TSAl
RIEIEEG

(1) 3foa sifear fremet fft ¥ fafeu:

o a
(i) | (1) | =
(i) | i o @ @) | g
(iil) | ¥ =t wefAr (3) | @
(iv) | e “4) | 3
Ty

(2) ‘T € Sfem @ 39 W 31 fee 25 ¥ 30 vt # fofaEu |

faamT 4 — ST eI (STHT) : 14 3w

TSl o SFTTAR Rl Sifg;
(1) frafafed aog & sTeR@iferd v &1 ¥ TEaHET fafau:
R

(2) frAfated s § ¥ ot Uen 3Te0F ST 37eq0f a1 § Ta1T hifeT;:

(i) 9T (i) 3Te!
(3) il wiST
.................. f7: + smem
srgar
TAT e,
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frafafead el & ¥ fordt U a1t &t Geaeh foRdT Teaent 39ehT 0ot &1 fafen: [1]
(i) To= =1 He o &1 |
(i) o T&T Tohg 7 TG T |

e foram et foRam

frfafea & § fodt wen forar o1 wem qom fadte dvumder w7 fafau: [1]

femam TIH WUTeh ®O | SfadiT IRuTdeR w9
G) T
Gi) T e

frfafed qereri % ¥ ford! Ueh HeTek o1 314 forgent 3fed ared & W shifsTe: 1]
() EITAE (i) 9T ACHMT

gar

STUR@IfRd AT o foT sresw ¥ T geadl § ¥ 39 qerer &1 =9 oieh aed e 9

fofau: 1]
(@reraer BT, fcther s

GfSd FSERTH FIh! S @ f shIg | 3T T

frafafea arel & § ford! T a1e 7 e ek TeaToht SHehT e fafau: 1]

() ¥ ST T T IR I@ATF |
(i) &I E9E F A A |
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BOARD ACTIVITY SHEET: July 2022

Science and Technology Part - 1

Time: 2 Hours

Note: i.

Q.1

ii.
iii.
iv.
V.

vi.

(A)

®

Max. Marks; 40

All questions are compul sory.

Use of acalculator isnot allowed.

The numbers to the right of the questions indicate full marks.

In case of MCQs (Q. No. 1(A)) only the first attempt will be evaluated and will be given credit.

For each MCQ, the correct alternative (A), (B), (C) or (D) with subquestion number is to be written
as an answer.

For Eg.: (i) (A), (ii) (B), (iii) (C)

Scientifically correct, labelled diagrams should be drawn wherever necessary.

Choose the correct alternative and write the correct option: [5]
The formulafor escape velocity is

w2 ® [
© [ ® o

To prevent rusting, alayer of metal isapplied on iron sheets.
(A) potassium (B) sodium
(C) magnesium (D) 1znc

Carbonate ores are strongly heated in a limited supply of air to transform them into oxides,
this processis called

(A) leaching (B) cacination
(C) roasting (D) tinning
For a particular value of ‘i’, the value of ‘r' becomes equal to 90°. This value of ‘i’ is called
the
(A) critical angle (B) angleof deviation
(C) angleof refraction (D) angle of emergence
The controls the amount of light entering the eye.
(A) iris (B) pupil
(C) cornea (D) retina
Answer thefollowing [5]
Match the correct pair:
Column ‘A’ Column ‘B’
Electric a. | Theohm
b. | Theampere
C. | Thevolt

What is the height of the low earth orbit satellite above the earth's surface?

State true or false:

When the incident ray is paralld to the principal axis, the refracted ray does not pass through
the principal focus.

Find the odd man out :
Methane, Ethene, Propane, Butane:
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Q.3

(A)
l.
i

®)
l.

V.

www.saiphy.com

Identify the law from the given figure:

Electric
current T

Magnetic field

@

Give scientific reasons (any two): [4]
Generaly, most of the carbon compounds are bad conductors of electricity.

A magnetic needle shows decreasing deviation of its angle as distance from a current
conductor isincreased.

We see the sun even before it emerges above the horizon.

Answer any three of the following questions: [6]
How much heat energy is necessary to raise the temperature of 10 kg of water from 30°C to

100°C?

(Specific heat capacity of water (c) = 1 kcal/kg *°C)

Will the value of g be the same everywhere on the surface of the earth? Justify your answer.
| dentify the exothermic and endothermic reactions :

a HCl - NaOH ——> NaCl + H,0 + heat

b.  2KClOzgy —2— 2KClg 30,1

C. Ca0 + H,O ——> Ca(OH); + heat

d.  CaCOyy ——> CaOyg +CO,T

Give one function of each of the following satellites:
a Communication satellite b. Earth observation satellite

State any two uses of ethanol.

Answer any five of the following questions: [15]

Identify the phenomenon shown in the figure below. State and explain it :

Sun light

Observe the following diagram and answer the questions given below :
a Identify the device shown in the figure.

b. On which rule is the working of the above device based?

C. Give any two uses of this device.

B C

tn

N

A D
Split rings \ X Y\‘

(X and Y) Carbon brushes

e T (Eadp

f

Axle
K
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ii. a The atomic number of nitrogen is 7. How many electrons are present in the valence
shell of nitrogen?
b. Molecular formula of nitrogen is N,. Draw the electron-dot structure and line structure

of anitrogen molecule.

The mass and weight of an object on the earth are 5 kg and 49 N respectively. What will be
their values on the moon? Assume that the acceleration due to gravity on the mode is 1/6th of

that of the earth.
v.  Towhich group does the halogen family belong? Write any four halogens.
vi.  What isredox reaction? Explain with the help of a balanced chemical equation.

Vii.

Explain the following temperature vs. time graph :

Boiling water + Vapour
100 T D
90 Liquid — Gaseous state
80
70
°C 60 <&
50 L/
40 >
30
20
104A B
OO/ T T T T T T T T 1T T T T T T T 1
lcos Wae? 4 6 81012141618 2022242628 30 32 34
(Solid + liquid) Tifre YOS ———
viii. An element hasits electronic configuration as 2, 8, 2. Answer the following questions :
a What is the atomic number of this element?
b.  What isthe group of this element?
C. To which period does this e ement belong?

Attempt any one of the following questions:

i a What is the minimum distance of distinct vision for normal human eye?
b. Identify the defect of vision shown in the figure :
C. Focal length of aconvex lensis 25 cm. What isits power?
d. Define power of alens.

State the general properties of ionic compounds.
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BOARD ACTIVITY SHEET: July 2022

Science and Technology Part - 2

Time: 2 Hours

Note: 1.
1l.
1il.
1v.

V.
V1.

Q1. (A)

ii.

iil.

iv.

(B)
i.
ii.
iv.
Q.2.(A)

il.

iil.

Total Marks: 40

All questions are compulsory.

Use of a calculator is not allowed.

The numbers to the right of the questions indicate full marks.

In case of MCQs [Q. No. 1(A)], only the first attempt will be evaluated and will be given
credit.

For each MCQ, the correct alternative (A), (B), (C) or (D) with subquestion number is to
be written as an answer.

For E.g.: (1) (A), (i) (B), (iii) (C).

Scientifically correct, labelled diagrams should be drawn whenever necessary.

Choose the correct option and write its number for the following questions: [5]
Glycolysis and are two steps of anaerobic respiration.
(a) Kreb’scycle (b)  Electron transfer chain reaction
(c) Fermentation (d) Reduction
is used in thermal power plant.
(a) Coal (b)  Uranium (c) Natural gas (d) Water
Chemically, vinegar is 4%
(a)  Gluconic acid (b)  Amino acid

(¢) Citric acid

Government of India has encouraged the
NKM-16.

(a)  Apiculture

(¢)  Pisciculture

Alcohol consumption mainly affects
(a) Respiratory
(c) Digestive

Answer the following questions:

Write the scientific name of human being.

Find the odd man out:
Actin, Ossein, Myosin, Aldosterone

State whether True or False:

The power available from the solar cell is AC.

(d)  Acetic acid

for improving the production by launching
(b)  Vermiculture
(d) Sericulture

system.
(b)  Nervous
(d)  Circulatory

5]

I have calcareous spines and I move with tube feet, which phylum do I belong to?

Write any one example of natural disasters.

Give scientific reasons: (any two)
Water is an essential nutrient.

Tobacco chewing is injurious to health.

[4]

It is absolutely necessary to control the fission reaction in nuclear power plants.
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1.

il.
iil.

iv.
V.
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Answer the following questions: (any three)
Complete the following chart:

i

Evidences of
Evolution

}

What is environment ? Write two types of environment.
Observe the given diagram and write proper names in the blocks.

Which precautions should be followed to maintain the reproductive health?

Distinguish between butterfly and bat with the help of two distinguishing characteristics.

Q. 3. Answer the following questions: (any five)

1.

ii.

Redraw the table taking into account the relation between entries in the three columns.

Column I Column II Column III
Coal Kinetic energy Nuclear power plant

Uranium Thermal energy Wind electricity plant
Wind Nuclear energy Thermal plant

(a)
(b)

Identify the class of the animals shown in the figure.
Write two characteristics of that class.
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iv.

Vi.

Vii.

Viii.
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Which precautions are necessary for proper decomposition of domestic waste?
Write the importance of medicinal plants.

What will you do? Why?

(a)  You are spending more time on Internet/mobile games, phone, etc.
(b)  You have to use free space around your house for good purpose.
(¢)  Your brother studying in Std. XII has developed stress.

The following are some picture of disasters. Which precautions would you take during these disasters?

(a) (b) (c)
Explain the concept of connecting links with two examples.
(1)  Write two sources of lipids.
(2) How much energy is obtained from lipids?

€)

What is produced after digestion of lipids?

Q. 4. Answer the following questions: (any one)

i.

ii.

Draw a neat and labelled diagram of female reproductive system and give the functions of:
(a) Oviduct (b) Ovary (¢)  Uterus

Explain the meanings of the following symbols:

N -

Ny 5o\ SS3% | x5
o T =2 G CxV,
9]

( () G) (4) ©)
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BOARD QUESTION PAPER: JULY 2022
HISTORY AND POLITICAL SCIENCE

Time: 2 Hours Max. Marks: 40
Note: 1. All the activities/questions are compulsory.

2. Figures to the right indicate full marks.

3. Question Nos. 1 to 5 are based on History and Question Nos. 6 to 9 are based on Political Science.

4 It is mandatory to write a complete statement as answer in Question No. 1(A) and 6.

5 In Question Nos. 2(A) and 8(B) the appropriate answer is expected to be written by pen only in the

concept map.

6.  In Question No. 1(A), 1(B) and Question No. 6 are repeated then only first attempted answer will be
considered.
Q.1. (A) Choose the correct option from the given options and complete the sentences: [3]
(1)  The Sanskrit text of ‘Hitopadesh’ was translated in German by
(A) James Mill (B)  Friedrich Max Muller
(C) Mount Stuart Elphinstone (D)  Sir John Marshall
(2) The earliest museum in the world was discovered in the excavations at the city of
(A) Delhi (B) Harappa
(C©) Ur (D) Kolkata
(3) Bhilar, a village near Mahabaleshwar is known as the ‘Village of ’
(A) Books (B) Plants
(C) Mangoes (D) Forts
Q.1. (B) Identify the wrong pair in the following and rewrite it: [3]
(1)
i. | Georg Wilhem Friedrich Hegel ‘Reason in History’
ii. = Leopold von Ranke ‘The Theory and Practice of History’
iii. = Herodotus ‘The Histories’
iv.  Karl Marx ‘Discourse on the Method’
2
i. | Darpan Balshastri Jambhekar
ii. = Prabhakar Acharya P.K. Atre
iii. = Deenbandhu Krishnarao Bhalekar
iv. | Kesari Bal Gangadhar Tilak
3)

Ranjankhalage (Naturally carved out

cavities in rocks) at Nighoj Geographic tourism

ii. = Forts in Rajastan Historical tourism
iii. = A visit to Agricultural University Agro-tourism
iv. Himalayan Car Rally Health tourism
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Q.2. (A) Complete the following concept map / chart (any two):
(1)  Complete the concept web:

Agra Fort F

World Cultural
Heritage Sites in
India

Y

Sun temple,
Konark

(2)  Complete the concept web:

Indian
Outdoor
Games

(3) Complete the concept web:

1

Pilgrim
centre

i

Tourist Places in R Hill

A

Dams >
] Maharashtra Station

)

Rock cut
curves

}
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Q.6.

Q.7.

Q.8.
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(B) Write short notes on (any #wo):
(1)  Voltaire

(2) Kesari and Maratha

(3) Toys and festival

Explain the following statements with reasons (any mwo):

(1) Historical research was driven to focus in depth on various aspects of women’s life.
(2) Itis essential to study the history of technology.

(3) Toys throw light on the History.

(4) Only trained persons, who are duly qualified can take up task involved in the work of
conservation and preservation.

Read the following passage and answer the questions based on it:

Heritage Walks: To go on a tour for visiting historical places is known as ‘Heritage Walk’. One
can experience the thrill of being a part of history by participating in heritage walks.

‘Heritage Walks’ as an organised group activity has gained popularity in many countries. India has
a rich history, which can be traced back to many millenniums. Every region in India is full of
historical places from ancient, medieval and modern period. The ‘Heritage Walk’ organised in the
city of Ahmedabad is well-known. In the cities of Mumbai and Pune in Maharashtra such walks are
organised regularly. Heritage walks can encourage people to support projects like conservation and
preservation of historical monuments, to collect authentic information about them and to publish it
through various media. Residences of renowned citizens who have passed away are also part of
heritage. In some cities, ‘blue plaques’ with the names and other relevant information of such
citizens are placed on their residences, as a part of heritage scheme.

Questions:

(1)  What is meant by Heritage Walk?

(2) In which cities in India heritage walk is organised?

(3) Name the place in your district that you would like to visit as part of heritage walk and why?

Answers the following questions in detail (any two):

(1)  What is Marxist history?

(2)  Why is library management important?

(3)  Explain the difference between Indoor games and Outdoor games.

(4) What different methods of communication were adapted before the advent of newspapers?

Choose the correct option from the given options and complete the statements:
(1) In Maharashtra, seats are reserved for women in local and self-governing institutions.
A) 25% B) 30% ©) 40% (D) 50%

(2) To increase agricultural production and become self-sufficient with regard to food grains
was initiated.

(A) Water Revolution (B)  Green revolution
(C) Industrial revolution (D) White revolution.

State whether the following statements are true or false. Give reasons for your answer
(any two):

(1) Indian democracy is considered the largest democracy in world.

(2)  Coalition politics leads to instability.

(3) The movement does not need leadership.

(A) Explain the following concepts (any one):
(1) Right to Information
(2)  Electoral reforms
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(B) Do as directed (any one):
(1) Complete the concept map:

i

Regional Parties in
Maharashtra

}

(2) Complete the table:

State / Area Tribes
(1) Odisha

2) Koli
(3) Chota Nagpur

@ Santhal

Q.9. Answer in brief (any one):
(1)  Explain the functions of the Election Commission.
(2)  Explain the nature of farmer’s movement in India.
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BOARD QUESTION PAPER: JULY 2022
GEOGRAPHY

Time: 2 Hours Max. Marks: 40
Note:

1. All the activities/ questions are compulsory.

2. Figures to the right indicate full marks.

3. For Q. No. 4(A) use supplied outline map of India and tie it to your answer-book.

4. For Q. No. 6(A) use the graph paper supplied to you and attach it to the main answer-book.

5. Use of stencils is allowed for drawing map.

6. Draw neat diagrams and sketches wherever necessary.

7. Answers should be written in Black or Blue ink only. Answers written in pencil will not be considered.

8. Use of Pencil / Colour Pencil is allowed for drawing diagrams, sketches and map work.

Q.1. Complete the following sentences by choosing the alternatives from those given and rewrite
the sentences in your answer-book: (4]
1. Like Brazil, India too has
(i)  High mountains (i)  Ancient plateau
(iii)) West-flowing rivers (iv)  Snow-capped mountains
2. Inthe mixed forests at the foothills of Himalayas trees are found in plenty.
(1)  Sal (i)  Sundar (iii)  Khejri (iv) Teak
3. In Brazil a South-West flowing river is used for water-ways.
(i)  Puraguaco (ii) Parnaiba (i) Purus (iv) Parana
4. In Narmada valley  type of settlements are found.
(1)  Linear (i)  Dispersed (iii)) Nucleated (iv) Star-shaped
Q.2. Match the following: [4]
‘A’ ‘B’
(1) ' Field Visit (i)  Sao Paulo
(2) Climate of India (ii) = Samba Dance
(3) Brazil (iii) | Monsoon type
(4) Densely populated state in Brazil ~ (iv) Teak
(v) | Follow the instructions of the teacher
Q.3. Write short notes (any two): [4]
1. Development of communication in Brazil.
2. Western coastal plain.

3. Historical background of Brazil.

Q.4. (A) Mark the following in the outline map of India supplied to you, write the names and give index.
(any four): (4]

Tropic of Cancer

Kaveri River

Andaman and Nicobar islands

State with highest sex ratio

Northernmost state with least density of population

Lake Chilka

IR
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(B) Observe the given map and answer the questions given below it (any four):

P

;
p 3

@ Nascentg

@ A
\7}|

( do Rio Mda

&

BRAZIL
Standard Time

Time Zone

Brazil Timezone

-3 Hours
GMT

-2 Hours
GMT

Ponto De
® Seixas

Questions:

nkh v =

What does the above map indicate?

How many time zones are shown in the map?
Which part of Brazil is ahead of others?
What does the dark line in the map show?

To which direction does Ponto De Seixas lie?

Q.5. Give geographical reasons for the following (any two):

I. There are few natural ports on the eastern coast of India.
2. Tropical cyclones occur rarely in Brazil.
3. Urbanization is increasing rapidly in India.

4. Rain forests in Brazil are called 'Lungs of the World'".

Q.6 (A) With the help of given statistical data, prepare a simple bar graph and answer the

following questions:

Years
1980
1990
2000
2010
2016

India-Trade (% of GDP)
(1980 to 2016)

Percentage of GDP

15
16
58
50
40
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Questions:
1.  What does the graph show?
2. What was the contribution of trade in GDP in the year 2010?

3. How much was a decrease in the percentage of GDP in the year from 2010 to 2016?

Or
Q.6 (B) Observe the following graph and answer the questions: [6]
1000
91.4 926
o\c 800 - 86.4
80.0
] 74.6
<
~ 600 |
=
Q
<
2
o 400 Literacy Rate
(Brazil)
20.0
0.0 T T T 1
1981 1991 2001 2011 2016
Year
100.0 T
80.0 -
693 722
o 61.0
60.0 -
S 482
3
é 408
L 400 o
Q
g :
Q Literacy Rate
S 200 A .
(India)
0.0 T T T 1
1981 1991 2001 2011 2016
Year
Questions:
1. What does the graph indicate?
2. Which country has a high literacy rate?
3. Inthe year 2001 how much more is the literacy rate in Brazil than India?
4. What is the highest literacy rate in India?
5. Which decade in India shows the highest increase in literacy rate?
6.  How much is the literacy rate in Brazil in the year 2011?
Q.7. Answer the following questions in detail (any nwo): [8]
1. Prepare a questionnaire for an interview with a farmer during the field visit.
2. Differentiate between the human settlements in Ganga river basin and the Amazon river basin.
3. State the major forests type in India and explain thorny and shrub type vegetation.
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BOARD QUESTION PAPER: JULY 2022

Mathematics Part - |

Time: 2 Hours Max. Marks: 40

Note: i.

Q.1.

Q.2.

1l
1.

All questions are compulsory.
Use of a calculator is not allowed.
The numbers to the right of the questions indicate full marks.

iv.  Incase of MCQs [Q. No. 1(A)] only the first attempt will be evaluated and will be given credit.
V. For ever MCQ, the correct alternative (A), (B), (C) or (D) with subquestion number is to be written as
an answer.
(A) For every subquestion four alternative answers are given. Choose the correct answer
and write the alphabet of it: [4]
1. Foran A.P.,a=3.5,d=0, thent,= .
A 0 B) 35 (C©) 1035 (D) 104.5
il. Find the value of the determinant 5 34‘ .
A -1 B) 41 (©) 41 D) 1
iii.  Which of the following quadratic equations has roots 3 and 5?
(A) x*—15x+8=0 B) x*+8—15=0
(C) x*+3x+5=0 (D) x*—8x+15=0
iv.  There are 40 cards in a bag. Each card bears a number from 1 to 40. One card is drawn at random.
What is the probability that the card bears a number which is a multiple of 5?
1 3 4 1
A) - B) = c) - D) -
W) < B - © < D) -
(B) Solve the following subquestions: [4]
i. The sum of father’s age and twice the age of his son is 70. Use the given information to form
a linear equation in two variables.
il. A die is thrown. Write sample space.
iii.  Find the roots of the quadratic equation (x + 5) (x —4) = 0.
iv.  Find the first term and common difference for an A.P., 127, 135, 143, 151, ... .
(A) Complete and write any two activities from the following: [4]
1. Complete the following activity to find the 27th term of the following A.P.,
9,4,-1,-6,-11, ....
Activity:

ii.

Here,a=9,d=|:| ,n=27

ty = |:| +(n-1)d ...[Formula]
tyy =9+ (|:|—1) (-5)

=]

One die is rolled. Complete the following activity, to find the probability that the number on
the upper face is prime.

Activity:

S is the sample space.

s=__1J

n(S)=6
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iii.

(B)
ii.

1.

iv.

Q3. (A)
1.
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Even A: Getting a prime number on the upper face.

a={__]

n(A)=3

n(A)
Complete the following activity to find the value of x.
Activity;

3x—y=2
2x+y=28

(=[]
O

P(A) = ...[Formula]

P(A) =

x _
5
x=[]
Solve any four subquestions from the following: [8]

For solving the following simultaneous equations, find the values of (x + y) and (x — ).
15x+ 17y =21, 17x + 15y =11.

Find the value of the discriminant of the quadratic equation 2)* —y + 2 = 0.
Find the sum of the first 21 even natural numbers.
Two coins are tossed simultaneously. Find the probability of the event of getting no head.

Find D, and D, for the following simultaneous equations.
x+2y=—1,2x-3y=12

Complete and write any one activity from the following: [3]
From three men and two women, environment committee of two persons is to be formed. To

find the probabilities of the given events, complete the following activities.

Event A: There must be at least one woman member.

Event B: Committee of one man and one woman to be formed.

Activity:

Let My, M,, M3 be three men and W;, W, be two women. Out of these men and women
environment committee of the 2 persons is to be formed.

S = (MM, MM, M,M;, M;W,, MW, My W, MWy, MW, MW, [ |}

n(S)=10
Event A: There must be at least one woman member.

A= MW, MW, [ [ MW, MW, MJW,, WW,}

nA) =[]
P(A) = w ...[Formula]

n(s)
p(a) = ]

10
Event B: Committee of one man and one woman to be formed.

B = (MW, M,W,, M,W,, [ [ MW, M,W,}
n(B) =6
n(B)

n(s)

P(B) =

...[Formula]
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P(B) = %

[ ]

il. Complete the following activity to find the roots of the quadratic equation 25x> +30x + 9 =0
by formula method.
Activity:
25 +30x+9=0
Comparing the equation with ax® + bx + ¢ = 0, we get

a=25,b=|:|,c=9

b’ —4ac =(30)"—4x25x9
=900 — 900

-

P(B) =

2a
L=
2x25
- -0
_sovo o =0
50 50
30 30
50 50
[ ] . 3
x=- or Sox= ==
5 5
(B) Attempt any two subquestions from the following:
1. Solve the given equation by factorisation: 5m” = 22m + 15.
il. Solve the following equations:

3x-2y= %, %x +3y= —%.

iii.  Length and breadth of a rectangular garden are 77 metres and 50 metres. There is a circular
lake in the garden having diameter 14 m. Due to wind, a towel from a terrace on a nearby
building fell into the garden. Find the probability of the event that it fell in the lake.

iv. A two digit number and the number with digits interchanged add up to 143. In the given
number the digit in units place is 3 more than the digit in the tens place. Find the original
number.

Attempt any fwo subquestions from the following:

1. Solve the following simultaneous equations graphically:
x+ty=4,3x-2y=17.

ii. A train travels 240 km with uniform speed. If the speed of the train is increased by 12 km/h, it
takes one hour less to cover the same distance. Find the initial speed of the train.

iii.  If the sum of the first p terms of an A.P. is equal to the sum of first q terms, then show that
the sum of its first (p + q) terms is zero (p # q).

Solve the following subquestions: (Any one)

1. The measures of the angles of a quadrilateral are in A.P. The measure of largest angle is twice
the smallest. Find the measures of all angles of the quadrilateral.
[Assume measures of angles as a°, (a + d)°, (a +2d)°, (a + 3d)°,
(wherea<a+d<a+2d<a-+3d)]

ii.  The product of two numbers is 352 and their mean is 19. Find the numbers.
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BOARD QUESTION PAPER: JULY 2022
Mathematics Part - |

Time: 2 Hours Max. Marks: 40

Note:
1. All questions are compulsory.
ii.  Use of calculator is not allowed.
iii.  The numbers to the right of the questions indicate full marks.
iv.  In case of MCQs [Q. No. 1(A)] only the first attempt will be evaluated and will be given credit.
v. For every MCQ, the correct alternative (A), (B), (C) or (D) with sub-question number is to be written
as an answer.
vi.  Draw proper figures for answers wherever necessary.
vii.  The marks of construction should be clear. Do not erase them.
viii. Diagram is essential for writing the proof of the theorem.

Q.1. (A) Four alternative answers are given for every sub-question. Select the correct alternative

and write the alphabet of that answer: [4]
i. From the following points point lies to the right side of the origin on X-axis.

Ay (2,0 B) (0,2)

© 23 D) 2,0
ii.  APQR ~ ASTU and A(APQR) : A(ASTU) = 64 : 81, then what is the ratio of corresponding

sides?

(A) 8:9 (B) 64:81

©) 9:8 (D) 16:27

iii.  In a right angled triangle; if the sum of the squares of sides making right angle is 169, then
what is the length of hypotenuse?

(A) 15 B) 13

< 5 (D) 12
iv.  Iftan O = /3, then the value of 8 is

(A) 60° (B) 30°

©) 90° (D) 45°
(B) Solve the following sub-questions: (4]
1. In the given figure, seg CB L seg AB, seg AD | seg AB. C

IfBC=4, AD =8,

then find M .

A(AADB) A B
D

ii.  Find the coordinates of the midpoint of the segment joining the points (22, 20) and (0, 16).

ili.  Two circles having radii 7 cm and 4 cm touch other internally. Find the distance between
their centres.

iv. In AABC, ZB =90°, ZA =30°, AC = 14, then find BC. A

30
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Q2. (4)

ii.

iii.

(B)

ii.
1.

iv.
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Complete the following activities and rewrite it (any two): [4]
In the above figure, ZPQR is inscribed in the semicircle PQR. Q
Complete the following activity to find measure of ZPQR.
Activity:
m(arc PQR) = 180° ...(measure of semicircle) R
= P .
m(arc PXR) |:| )
1
ZPQR = —m(arc
QR = LmGare []) | |
= L 180° X
2
ZPQR=[ |
In AABC, ZB =90°, ZC = 0° then A
complete the activity to derive the trigonometric identity.
Activity:
AB*+BC’ = |:| ...(Pythagoras theorem)
2 2 2 e
AB ,BC _AC ...(dividing by AB?) B C

AB® AB’ AR
BC* AC?

A AR

[ 1 2.0 AC )
But 5 = cot"0 and I:I = cosec O
1+ |:| = cosec’0

In APQR, if PN = 12, NR = §, PM = 15, MQ = 12, then complete the following activity to
justify whether seg NM is parallel to side RQ or not.

Activity:

In APQR,

w2 .. (i)

g M_B_L (i
MWEMQ 127 4 L

;—ii% ...[from (i) and (ii)]
By | |

seg NM is |:| to side RQ.
[Note : The activity has been modified.]

Solve the following sub-questions (Any four): [8]
In the given figure,
chord AC and chord DE intersect each other at point B. A ’ E
If ZABE = 108° and m(arc AE) = 95°,
Then fine m(arc DC). ‘
C
D

Find the distance between the points P(~1, 1) and Q(5, —7).
Construct a tangent to a circle with centre P and radius 3.5 cm at any point M on it.

Find the length of diagonal of rectangle having sides 11 cm and 60 cm.

Ifsin 0= 7 , then find values of cos 0 and tan 0.
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1.

Q4.

ii.

(B)

il.
iii.

iv.
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Complete the following activities and rewrite it (any one): [3]
In the above figure

ZQPR = 90°, seg PM L seg QR and Q-M-R. PM = 10, P

QM = 8. Complete the following activity to find the

value of QR.

Activity:

In APQR, ZQPR =90° and

seg PM 1 seg QR ....(Given) Q M R

PM’=[ | xMR ]
(|:|)2= 8 x MR

199~ mRr

|8:| =MR

Now QR =QM + MR ..(* Q-M-R)
QR=8+[ |

QR=[ ]

In the above figure, in AABC seg XY || side AC, A-X-B, B-Y-C A
If 2AX = 3BX and XY =9,

then complete the following activity to find value of AC.

Activity:

2AX = 3BX ...(Given) X

BX|:| B C

...(Componendo)

AB 5 .
—== ...@

BX 2 o

AABC ~ABYX ( |:| test of similarity)
BA_AC

BX|:|

Ba_ AL ...[from (1)]

...(c.s.8.t)

Solve the following sub-questions (any fwo): [6]

Prove that sec 6 + tan 0 = i

1-sin6
Find the coordinates of centroid of the triangle whose vertices are (4, 7), (8, 4), (7, 11).
Prove that “Opposite angles of a cyclic quadrilateral are supplementary”.

Draw a circle with centre O and radius 3.5 cm. take a point P at a distance 7.5 cm from the
centre. Draw tangents to the circle from point P.

Solve the following sub-questions (any fwo): [8]

1.

In AABC, point X is any point on side BC. A
seg XM || seg AB and seg XN || seg AC.
Extend seg MN such that it intersects extended
side CB in point T.

Then prove that TX> =TB x TC.
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il.
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Draw triangle ABC, right angle at B such that AB = 3 cm, BC = 4 cm. Now construct APBQ
similar to AABC each of whose sides are % times the corresponding sides of AABC.

A
In the given figure, points A, P, B, R, C, Q are on the circle.
After joining the given points as shown in the figure it from P Q

hexagon, then prove that ZAPB + Z/BRC =360° — ZAQC.

R

Solve the following sub-questions (Any one):

1.

ii.

AABC and APQR are equilateral triangles with altitudes 243 and 43 respectively, then:
a. Find the length of side AB and side PQ
b, 4 A(aABC)
A(APQR)
c. Find the radio of perimeter of AABC to the perimeter of APQR.

In a circle with centre O, PA and PB are tangents from an external point P. E is the point on
the circle such that O-E-P. Tangent drawn at E intersects PA and PB in point C and D
respectively. If PA = 10, then write the answers to the following questions:

a. Draw the suitable figure using given information.

b. Write the relation between seg PA and seg PB

c. Find the perimeter of APCD.
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